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equation to cylindrical and

spherical coordinates. Use technology to graph the functionlin each coordinate system to verify
your conversions. (10 points)
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4. Write an equation of the eylinder z = /x2 4+ y? in parametrig (surface) form. Use technology
to graph the original function, and the parametric form to vefify your conversion. (6 points)
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Rectangular https://www.geogebra.org/3d?lang=en
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MTH 265, Exam #1, Part

I, Fall 2018 Name
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Instructions: Show all work. Give exact answers unless specifically agked to round. All complex

numbers should be stated in standard form, and all complex fractio

show work, problems w

possible and any credit éwarded for the work will not be available.

s should be simplified. If you do not
Il be graded as “all or nothing” for the answer only; partial credit will not be |

8. Useu =(2,1,—#),¥ = (5,—2,3) to find the following. (4 points each)
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9. State the domair
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14. Find the value o
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